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1. (d) H A N G

L  S  F  M

+5

Similarly,

G  R A W

B  F  W  L

+5

2. (c)

3. (a) 100 : 81 (odd)

  
2

100 – 2

 (10 – 2)2

 64  81 (LHS   RHS)

36 : 16

  
2

36 – 2

 (6 – 2)2

 16 = 16 (L.H.S = R.H.S)

49 : 25

  
2

49 – 2

 (7– 2)2

 25 = 25 (LHS = RHS)

81 : 49

 
2

81 – 2

(9 – 2)2

 49 = 49 (L.H.S = R.H.S)

4. (c)

5. (c) 12 : 216

 (12 ÷ 2)3 = 63 = 216

24 : 1728

 (24 ÷ 2)3 = 123 = 1728

Similarly,

18 : 729

(18 ÷ 2)3 = 93 = 729

6. (d)

7. (a)

8. (a) Engineers
Geographer

9. (b)
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10. (d) T V X

S

R

Q

P

U

T

S

R

W

V

U

T

–1

–1

–1

–1

–1

–1

–1

–1

–1

–1

–1

–1

11. (b)3 – 21 + 153 × 17 ÷ 26

After changing the sign

 3 × 21 – 153 ÷ 17 + 26

 3 × 21 – 9 + 26

 89 – 9 = 80

12. (b)
Fruit

Tree

bird

13. (a)

14. (d)

15. (a) O  S   X

+4 +5
(odd)

I   M   Q

+4 +4

 ,F   J   N

+4 +4

N   R  V

+4 +4

16. (d) (12, 28, 8)

 (28 – 12) ÷ 2

 16 ÷ 2 = 8 (last number)

(72, 48, 12)

 (72 – 48) ÷ 2

 24 ÷ 2 = 12 (last number)

Similarly,

(108, 58, 25)

 (108 – 58) ÷ 2

 50 ÷ 2 = 25 (last number)

17. (d)23 – 31 + 135 × 15 ÷ 16

After putting the sign

 23 × 31 – 135 ÷ 15 + 16

 23 × 31 – 9 + 16

 713 – 9 + 16

 720

18. (b) F A R

H D T

+3–2 +2

P Q R

R T T

+3–2 +2

,

Similarly,

M A B

O D D

+3–2 +2

19. (a)
P Q

Mother
R S

Brother

Hlw–

+

P is the father of ‘s’

20. (d)13 × 6 + 24 ÷ 6 – 17 = 91

After changing sing

13 × 6 – 24 ÷ 6 + 17 = 91

13 × 6 – 4 + 17 = 91

78 – 4 + 17 = 91

95 – 4 = 91

91 = 91 (L.H.S = R.H.S)

21. (c)

22. (b) R L- Sister
G V

Hlw

Hlw–
–

Father’s sister

P
MotherDaughter

+ -

23. (b)PCEHZ /PCEHZ / PCEHZ

24. (d) 19  114   119  479  958476  

×6 +5 ×4 +3 ×2

25. (a) Word Code

th e Pin

Hou se zu

Big tim

ligh t Ch i

Lanka. B-GENERAL AWARENESS
26. (c) The slogan "Garibi Hatao"

(Remove Poverty) was

popularised by Prime

Minister Indira Gandhi

during the 1971 general

elections, and it became the

central theme of the Fifth

Five Year Plan (1974–

1979). This plan focused on

poverty alleviation,

employment generation,

and self-reliance in the

economy./"xjhch gVkvk s "

(Garibi Hatao) ukjk ç/kuea=kh
bafnjk xka/h }kjk 1971 ds vke pqukoksa
ds nkSjku yksdfç; fd;k x;k Fkk vkSj
;g iapo"khZ; ;kstuk (1974 -1979)
dh dsaæh; Fkhe cu x;kA bl ;kstuk
dk eq[; iQksdl xjhch mUewyu]
jkstxkj l̀tu vkSj vkfFkZd vkRefuHkZjrk
ij FkkA
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27. (a) The Doctrine of Lapse was

introduced by Lord

Dalhousie, who served as

Governor-General of India

from 1848 to 1856.

According to this policy, any

princely state or territory

under the suzerainty of the

British East India Company

would be annexed if the

ruler died without a direct

male heir./ykWMZ MygkSth }kjk "ySIl
fl¼kar" (Doctrine of Lapse) dh
'kq#vkr dh xbZ Fkh] tks 1848 ls 1856
rd Hkkjr ds xouZj&tujy jgsA bl
uhfr ds vuqlkj] fczfV'k bZLV bafM;k
daiuh ds v/hu dksbZ Hkh fj;klr vxj
fcuk fdlh çR;{k iq#"k mÙkjkf/dkjh
ds 'kkld dh e`R;q ij gksrh] rks mls
fczfV'k lkezkT; esa feyk fy;k tkrk
FkkA

28. (b) Tropical rainforests are

known for having the

highest biodiversity on

Earth. These forests are

located near the equator,

have a warm climate and

high rainfall & Provide ideal

conditions for a wide variety

of plant, animal, and

microbial life./m".kdfVcaèkh;
o"kkZou i`Foh ij lokZf/d tSo fofo/
rk okys taxy ekus tkrs gSaA ;s ou
Hkweè; js•k ds ikl fLFkr gksrs gSa] tgka
xeZ tyok;q vkSj vf/d o"kkZ gksrh gS]
tks ikS/ksa] tkuojksa vkSj lw{ethoksa dh
fofo/ çtkfr;ks a ds fy, vuqdwy
okrkoj.k çnku djrs gSaA

29. (c) Article 129 of the Indian

Constitution states that:

"The Supreme Court shall be

a court of record and shall

have all the powers of such

a court including the power

to punish for contempt of

itself."/Hkkjrh; lafo/ku ds vuqPNsn
129 ds vuqlkj% "Hkkjr dk lokZsPp
U;k;ky; ,d vfHkys• U;k;ky; gksxk
vkSj mlesa ,sls U;k;ky; dh lHkh
'kfDr;k¡ gksaxh] ftlesa Lo;a ds çfr
voekuuk ds fy, naM nsus dh 'kfDr
Hkh 'kkfey gSA"

30. (a) The Regional Rural Banks

Act, 1976 was enacted to

provide for the creation

and regulation of Regional

Rural Banks (RRBs) in

India. RRBs were

established to serve rural

areas with basic banking

and financial services,

especially to small

farmers, labourers, and

rural artisans./{ks=kh; xzkeh.k
cSad vf/fu;e] 1976 Hkkjr esa {ks=kh;
xzkeh.k cSadksa (RRBs) dh LFkkiuk
vkSj fu;eu ds fy, ykxw fd;k
x;k FkkA bu cSadksa dk mís'; xzkeh.k
{ks=kksa esa fo'ks"k :i ls NksVs fdlkuksa]
etnwjksa vkSj dkjhxjksa dks cqfu;knh
cSafdax vkSj foÙkh; lsok,a çnku djuk
FkkA

31. (c) The Hirakud Dam, built

across the Mahanadi

River, is located near

Sambalpur in the state of

Odisha. It is one of the

longest earthen dams in

the world. The dam plays

a crucial role in flood

control, irrigation, and

hydroelectric power

generation./fgjkdqaM ck¡/] tks
egkunh unh ij cuk gS] vksfM'kk
jkT; ds lacyiqj ds ikl fLFkr gSA
;g fo'o ds lcls yacs feêðh ds
ck¡/ksa esa ls ,d gSA ;g ck¡/ ck<+
fu;a=k.k] flapkbZ vkSj tyfo|qr
mRiknu esa egRoiw.kZ Hkwfedk fuHkkrk
gSA

32. (a) Dudhsagar Waterfall is

located on the Mandavi

River in the state of Goa,

near the Goa-Karnataka

border. It is one of the

tallest waterfalls in India,

with a height of about 310

meters (1017 ft.)./nw/lkxj
tyçikr xksok jkT; esa ekaMoh unh
ij fLFkr gS] tks xksok&dukZVd lhek
ds fudV gSA ;g Hkkjr ds lcls
Å¡ps tyçikrksa esa ls ,d gS] ftldh
Å¡pkbZ yxHkx 310 ehVj (1017
iQhV) gSA

33. (d) Gaura-Gauri Puja is a

traditional festival

celebrated mainly in the

Kumaon region of

Uttarakhand. It symbolises

the marriage of Lord Shiva

(Gauri's consort) and

Goddess Gauri (Parvati).

Women observe fasts and

perform rituals praying for

the well-being of their

husbands. The festival is

marked by folk songs,

dance, and vibrant cultural

processions./ xkSjk&xkSjh iwtk ,d
ikjaifjd R;kSgkj gS tks eq[; :i ls
mÙkjk•aM ds dqekÅ¡ {ks=k esa euk;k
tkrk gSA ;g Hkxoku f'ko vkSj nsoh
xkSjh (ikoZrh) ds fookg dk çrhd
gSA efgyk,a ozr j•rh gSa vkSj vius
ifr;ksa dh yach mez dh dkeuk djrh
gSaA ;g ioZ yksdxhrksa] u`R; vkSj
lkaLÑfrd >k¡fd;ksa ls Hkjk gksrk gSA

34. (c) The Green Revolution led to

a significant increase in the

yield of crops like wheat

and rice due to high-

yielding variety (HYV)

seeds, fertilisers, and

irrigation.The Green

Revolution actually

encouraged commercial

farming, not subsistence.

Farmers focused more on

surplus production for the

market.The area under

cultivation, especially for

wheat and rice, increased,

particularly in states like

Punjab, Haryana, and

Western UP./gfjr Økafr ds
dkj.k xsgwa vkSj pkoy tSlh iQlyksa
dh mit esa mYys•uh; o`f¼ gqbZ] tks
mPp mit okyh fdLeksa (HYV)]
moZjdksa vkSj flapkbZ ds dkj.k laHko
gqvkA gfjr Økafr us vkRefuHkZj Ñf"k
ds ctk; okf.kfT;d •srh dks çksRlkfgr
fd;kA •kldj iatkc] gfj;k.kk vkSj
if'peh mÙkj çns'k tSls jkT;ksa esa xsgwa
vkSj pkoy dh •srh dk {ks=kiQy
c<+kA
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35. (a) The Sama Veda is primarily

concerned with melodies and

chants. It is essentially a

collection of musical chants

and hymns that are meant

to be sung during rituals. The

Sama Veda forms the basis

of Indian classical music

traditions and is often called

the Veda of melodies.

lkeosn eq[;r% jkxksa vkSj ea=kksa ls
lacaf/r gSA ;g vuq"Bkuksa ds nkSjku
xk, tkus okys laxhre; ea=kksa dk
laxzg gSA lkeosn dks Hkkjrh; 'kkL=kh;
laxhr ijaijk dk vk/kj ekuk tkrk gS
vkSj bls ̂ jkxksa dk osn* dgk tkrk gSA

36. (a) The Constituent Assembly

of India had 12 women

members out of a total of

299 members./H k k jr dh
lafoèkku lHkk esa dqy 299 lnL;ksa esa
ls 12 efgyk,a lnL; FkhaA

37. (c) Jim Corbett National Park,

located in Uttarakhand,

was established in 1936

and is recognized as the

first National Park of India.

It was initially named

Hailey National Park. It was

created to protect the

endangered Bengal tiger.

The park is famous for its

rich biodiversity and

wildlife conservation

efforts./fte dkWcZsV jk"Vªh; m|ku]
tks mÙkjk•aM esa fLFkr gS] 1936 esa
LFkkfir gqvk Fkk vkSj bls Hkkjr dk
igyk jk"Vªh; m|ku ekuk tkrk gSA
bldk çkjafHkd uke gsyh jk"Vªh; m|ku
FkkA bldk mís'; ladVxzLr caxky
Vkbxj dh lqj{kk FkkA ;g m|ku viuh
tSo fofo/rk vkSj oU;tho laj{k.k
ds fy, çfl¼ gSA

38. (a) Agriculture is a primary

sector activity focused on

farming and food production

and is not considered part

of infrastructure. The

infrastructure sector

includes physical structures

and facilities needed for the

functioning of a society,

such as Dams, Highways

and Power./Ñf"k ,d çkFkfed
{ks=kh; xfrfof/ gS tks •srh vkSj •k|
mRiknu ij dsafær gksrh gS] vkSj bls
volajpuk (bUÚkLVªDpj) {ks=k dk fgLlk
ugha ekuk tkrkA volajpuk {ks=k esa os
HkkSfrd <kaps vkSj lqfo/k,a vkrh gSa tks
lekt ds dkedkt ds fy, t:jh
gksrh gSa] tSls cka/] jktekxZ vkSj ÅtkZA

39. (d) The 20th Asian Games are

scheduled to be held from 19

September to 4 October 2026

in Aichi Prefecture and

Nagoya, Japan. The event is

expected to feature 43 sports

with participation from 45

nations./20osa ,f'k;kbZ •sy 19 flracj
ls 4 vDVwcj 2026 ds chp tkiku ds
vkbph çkUr vkSj uxks;k esa vk;ksftr
fd, tk,axsA bl vk;kstu esa 43 •syksa esa
45 ns'kksa dh Hkkxhnkjh visf{kr gSA

40. (d) Prakash Padukone became

the first Indian to win the

prestigious All England

Badminton Championship

in 1980. He defeated Liem

Swie King of Indonesia in

the final. This victory

brought global recognition

to Indian badminton.

Prakash Padukone is also

the father of Bollywood

actress Deepika

Padukone./çdk'k iknqdks.k igys
Hkkjrh; cus ftUgksaus 1980 esa çfrf"Br
vkWy baXySaM cSMfeaVu pkSafi;uf'ki
thrhA mUgksaus iQkbuy esa baMksusf'k;k
ds fy;e fLo, fdax dks gjk;kA bl
thr ls Hkkjrh; cSMfeaVu dks
varjjk"Vªh; igpku feyhA çdk'k
iknqdks.k ckWyhoqM vfHkus=kh nhfidk
iknqdks.k ds firk Hkh gSaA

41. (d) The Right to Freedom of

Religion is guaranteed

under Articles 25 to 28 of

the Indian Constitution.

Key features include:

Article 25: Freedom of

conscience and free

profession, practice, and

propagation of religion.

Article 26: Freedom to

manage religious affairs.

Article 27: Freedom from

paying taxes for promotion

of any particular religion.

Article 28: Freedom from

religious instruction in

certain educational

institutions.//eZ dh Lora=krk dk
vf/dkj Hkkjrh; lafo/ku ds vuqPNsn
25 ls 28 ds varxZr fn;k x;k gSA
vuqPNsn 25% var%dj.k dh Lora=krk
vkSj /eZ dk Lora=k :i ls ikyu]
vH;kl vkSj çpkj dk vf/dkjA
vuqPNsn 26% /kfeZd ekeyksa dk çca/
u djus dh Lora=krkA
vuqPNsn 27% fdlh fo'ks"k /eZ ds
çpkj gsrq dj uk nsus dh Lora=krkA
vuqPNsn 28% dqN f'k{k.k laLFkkuksa
esa /kfeZd f'k{kk ls eqfDrA

42. (c) The Public Sector is

primarily driven by social

welfare rather than profit.

It includes government-

owned organisations and

enterprises that aim to

provide essential services

(health, education,

transport, etc.), reduce

economic inequalities,

promote balanced regional

development & create

e m p l o y m e n t

opportunities./lkoZtfud {ks=k
eq[;r% lkekftd dY;k.k ds fy,
gksrk gS] u fd ykHk ds fy,A blesa
ljdkj }kjk LokfeRo okys laxBu vkSj
miØe 'kkfey gksrs gSa] tks vko';d
lsok,a (LokLF;] f'k{kk] ifjogu vkfn)
çnku djus] vkfFkZd vlekurkvksa dks
de djus] {ks=kh; fodkl dks c<+kok
nsus vkSj jkstxkj l`tu ds mís'; ls
dk;Z djrs gSaA

43. (c) Pheasants and monals are

typically found in temperate

evergreen forests, especially

in Himalayan regions of

India. These forests occur at

higher altitudes and are

characterised by coniferous

trees, cool climate, and rich

biodiversity. For example:
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The Himalayan Monal,

which is also the state bird

of Uttarakhand, lives in

temperate coniferous and

mixed forests./ rhrj vkSj eksuky
i{kh vkerkSj ij 'khrks".k lnkcgkj ouksa
esa ik, tkrs gSa] fo'ks"kdj Hkkjr ds
fgeky;h {ks=kksa esaA ;s ou Å¡pkbZ ij
gksrs gSa vkSj 'kadq/kjh isM+ksa] BaMh tyok;q
vkSj lè¼ tSo fofo/rk dh fo'ks"krk
j•rs gSaA mnkgj.k% fgeky;u eksuky]
tks mÙkjk•aM dk jkT; i{kh gS] 'khrks".k
'kadq/kjh vkSj fefJr ouksa esa jgrk gSA

44. (b) The Tagore Centre for the

Study of Culture and

Civilization was inau-

gurated on May 24, 2013, by

then-President Pranab

Mukherjee at the Indian

Institute of Advanced Study

(IIAS) in Shimla, Himachal

Pradesh. Established to

commemorate the 150th birth

anniversary of Rabindranath

Tagore./VSxksj lsaVj iQkWj n LVMh vkWiQ
dYpj ,aM flfoykbts'ku dk mn~?kkVu
24 ebZ 2013 dks rRdkyhu jk"Vªifr
ç.kc eq•thZ }kjk f'keyk] fgekpy çns'k
esa bafM;u baLVhVÔwV vkWiQ ,MokaLM LVMh
(IIAS) esa fd;k x;k FkkA bldh LFkkiuk
johaæukFk VSxksj dh 150oha t;arh dh
Lèfr esa dh xbZ FkhA

45. (c) Both Kangra Valley and

Kullu Valley are famous

valleys situated in

Himachal Pradesh. These

valleys are known for their

scenic beauty, rich culture,

and tourism significance.

Kangra Valley is also

known for the ancient

Kangra Fort and temples,

while Kullu Valley is

famous for the Dussehra

festival and apple

orchards./dkaxM+k ?kkVh vkSj dqYyw
?kkVh nksuksa fgekpy çns'k esa fLFkr
çfl¼ ?kkfV;k¡ gSaA ;s ?kkfV;k¡ viuh
çkÑfrd lqanjrk] lè¼ laLÑfr vkSj
i;ZVu egRo ds fy, tkuh tkrh gSaA
dkaxM+k ?kkVh çkphu dkaxM+k fdys vkSj
eafnjksa ds fy, çfl¼ gS] tcfd dqYyw

?kkVh n'kgjk mRlo vkSj lsc ds ckxksa
ds fy, çfl¼ gSA

46. (b) India signed a deal with

Russia to procure the S-400

Triumf air defence missile

system. The S-400 is a

highly advanced surface-to-

air missile system capable

of targeting aircraft, UAVs,

and ballistic missiles. It

significantly enhances

India’s air defence

capabilities./Hkkjr us :l ds lkFk
,l&400 Vªk;EiQ ok;q j{kk felkby
ç.kkyh •jhnus dk le>kSrk fd;kA
,l&400 ,d vR;ar mUur lrg ls
gok esa ekj djus okyh felkby ç.kkyh
gS tks foeku] ;w,oh vkSj cSfyfLVd
felkbyksa dks yf{kr djus esa l{ke gSA
;g Hkkjr dh ok;q j{kk {kerkvksa dks
dkiQh gn rd c<+krh gSA

47. (d) On May 6, 2025, India and

the United Kingdom

finalized a Free Trade

Agreement (FTA) after over

three years of negotiations.

Key highlights: Tariff

reductions, automotive

industry impact, Labour

mobility etc./6 ebZ 2025 dks Hkkjr
vkSj ;wukbVsM fdaxMe us rhu lky ls
vf/d le; rd pyh okrkZvksa ds ckn
,d eqDr O;kikj le>kSrs (FTA) dks
vafre :i fn;kA eq[; fo'ks"krk,¡% 'kqYd
esa deh] vkWVkseksckby m|ksx ij çHkko]
Jfed xfr'khyrk vkfnA

48. (d) MMR data is primarily

released by WHO and allied

UN agencies, not the World

Bank. Maternal mortality in

India has shown a

significant decrease, not an

increase, largely because of

improved public healthcare

infrastructure, awareness,

and interventions./ekr̀ èR;q nj
(MMR) ds vkadM+s eq[; :i ls
WHO vkSj mlls lacaf/r la;qDr jk"Vª
,tsafl;ksa }kjk tkjh fd, tkrs gSa] u fd
oYMZ cSad }kjkA Hkkjr esa ekr̀ èR;q nj
esa mYys•uh; fxjkoV vkbZ gS] tks fd

lkoZtfud LokLF; <kaps esa lq/kj]
tkx:drk vkSj gLr{ksiksa ds dkj.k gSA

49. (a) Justice Bhushan Ram-

krishna Gavai was sworn in

as the 52nd Chief Justice of

India on May 14, 2025, in a

ceremony held at

Rashtrapati Bhavan,

administered by President

Droupadi Murmu. Justice

Gavai is notable for being the

first Buddhist Chief Justice

of India./14 ebZ 2025 dks tfLVl
Hkw"k.k jkeÑ".k xobZ us jk"Vªifr ækSinh eqeZw
}kjk vk;ksftr lekjksg esa Hkkjr ds 52osa
eq[; U;k;kèkh'k ds :i esa 'kiFk yhA os
Hkkjr ds igys ckS¼ eq[; U;k;k/h'k gSaA

50. (a) On May 8, 2025, Cardinal

Robert Francis Prevost was

elected as the 267th Pope of

the Catholic Church,

taking the papal name Pope

Leo XIV. He is the first

American to hold this

position./8 ebZ 2025 dks dkfMZuy
jkWcVZ Úkafll çsoksLV dks dSFkksfyd
ppZ dk 267ok¡ iksi pquk x;k vkSj
mUgksaus "iksi fy;ks XIV" uke /kj.k
fd;kA os bl in dks laHkkyus okys
igys vesfjdh cusA

gSAgS C - QUANTITATIVE APTITUDE

51. (b) 4489  = 67

 7840  = 88.54

 1024  = 32

 2916  = 54

52. (a) C.I = P 

t
r

1+
100

 
  
 

– 1

C.I = P 

3
r

1+
100

 
  
 

– 1

 = 38500 

3
8

1+
100

 
  
 

– 1

 = 38500 

3
27

25

 
  
 

– 1

= 9998.912
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53. (b) Put  = 0
 cosec 75o – sec15o – tan55o

+ cot35o 0
54. (b) (a + b + c)2  = a2 + b2 + c2 +

2(ab + bc + ca)
Now, (a + b + c)2 – a2  – b2 –
c2

 2 (ab + bc + ca)

55. (c) Area of the sector = 
360


r2

=
60

360
×
22

7
× 5 × 5

  13.09  13.1cm2

56. (a) C.P = `3000
S.P = `3200
Profit (P) = S.P – C.P
= 3200 – 3000 = 200

57. (b)            Initial : Final
Side -    50    :    67
Area -  2500  :  4489

 Increase % =  
4489 – 2500

2500

× 100 = 79.56%
58. (c) x = 3y + 4

Cubing both side
 (x – 3y)3 = 43

 x3 – 9xy (x – 3y)– 27y3 = 64
 x3 – 9xy × (4) – 27y3 = 64
 x3 – 27y3 – 36xy = 64

59. (d)  
(1 sin A)

1 sin A






(1 sin A) (1 sin A)

1 sin A 1 sin A

 


 


2

2

(1 sin A)

cos A




1 sin A

cos A



 secA – tanA
60. (d)16 of   of 

(3+3)}] (2  4 of 8)
 16 ofof}]

(2  32)

 16 ofof
1

2


2

32

 
  
 

 16 ofof
2

32

 
  
 

 16 of
2

32

 
  
 

 16 of
3

8


2

32

 
  
 

 1
3 32

8 2

   
   

      

 6
61. (a) 3.6,1.8 and 0.144


 
 

LCM of 3600,1800,144

H.C.F of 1000,1000,1000


3600

1000
3.6

62. (d)BO and CO is the angle bi-
sector of CBD and BCE
respectively.

BOC = 90º – 
BAC

2


54o

63. (a) Speed = 
Distance

time

D = 80 × 
45

60

D = 60 km
New speed = 180
New distance = 96 km

T = 
D 96 8

60
S 180 15

  

= 32 min.
64. (d)By Pythagoras theorem,

(OQ)2 = (OP)2 + (PQ)2

(OQ)2 = 32 + 42

(OQ)2 = 25
OQ = 5

65. (a) Height = Distance = 14 cm
Volume of cylinder = r2h

= 
22

7
× 7 × 7 × 14 = 2156 cm3

66. (c)

C
30o

A

B

1000 m

tan 30o = 
AB

BC

BC =1000 3
BC = 1.732 × 1000
BC = 1732 m

67. (c)

A
15

C

B

45 m

3

tan CAB = 
45

15 3

CAB = 60º

68. (b) D

L

C

BA

11

X

6

4

From the properties of the
circle,
LC × LD = LB × LA
6 × (6 +11) = 4 × (4 + x)
x = AB = 21.5

69. (a)  For 2 years of C.I we have,

6000

600 600

60

10% 10%

10%

1st year 2nd year

 C.I  = 600 + 600 + 60 = 1260
70. (b)x2 + 4x – 60 = (x+10)(x–6)

x2 – x – 30 = (x–6)(x+5)
x2 – 11x + 30 = (x–6)(x–5)
x2 – 16x + 60 = (x–10)(x–6)
common factors all fours is
(x – 6)

71. (d)

6

2 3

tan = 
6 P

B2 3


tan = 3

o60

72. (a)

3 4
x 1 2

y 3 3

    
       
   

3 4
3

4 4

x ( 3) 2 16
( 1)(3)

y 3(3)3

2

 
    
 
 
  

Now,

= 

1 1
x y 16 3

y x 3 16

    
       

  

=

1
(256 9)

48

  
  
 

=
48

265



73. (c) (a+b+c)2 = a2+b2+c2+ 2(ab +
bc + ca)
(20)2 = 262 + 2 (ab + bc + ca)
400 – 262 = 2 (ab + bc + ca)

ab bc ca 69  
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74. (c) According to question,

3 sinA
tanA

4 cos A
 

sin A = 3 and cos A = 4


cos A sin A

cos A sin A




=

4 3

4 3




=

1

7

75. (d)
P

40

Q R

A

QAR = 90 + 
P

2



QAR= 90 + 
P

2



oOAR 110 

In AQR
QAR + AQR + ARQ =
180o

AQR + ARQ = 180o – 110o

oAQR ARQ 70   

D-ENGLISH COMPREHENSION

76. (c) The correct spelling is

“vacillates” (Mxexku k)
means to be indecisive.

77. (b) “Give in” (>qd tkuk ;k gkj
eku ysuk) means to yield or

surrender. It fits the context

of the sentence, indicating

that mentally strong people

do not succumb to the idea

of suicide over trivial issues.

Make up: Means to

reconcile or create

something

Fall in: Means to collapse

or align.

78. (a) Quiescent ('kkar) means

being in a state of inactivity
or rest. Its opposite is

Active (lfØ;) , which

means engaged in
movement or action.

Peaceful ('kkafriw.kZ) means

calm or without
disturbance.

Dejected (fujk'k) means

sad or dispirited.

Indifferent (mnklhu) means

showing no interest or
concern

79. (b) Memoir (pfj=kjpuk) refers

to a historical account or

biography based on

personal knowledge.

Chronology (dkyØe)
refers to the arrangement

of events in time order.

Thesis (vkWuykbu ys•) is an

academic essay.

Blog ('kk s/ çc a/) is an

informal online journal.

80. (b) Reconcile (lqyg djuk)
means to restore friendly

relations or settle

differences.

Similarly, Resolve (gy
djuk) means to settle or

find a solution to a

problem.

Refuse (badkj djuk) means

to decline or reject.

Scatter (fc•sjuk) means to

disperse or spread out.

Agitate (mÙk s ftr djuk)
means to stir up or provoke

emotions or actions.

81. (b) “Cold feet” (?kcjkgV gksuk) is

an idiom used to describe

nervousness or a loss of

confidence before a

significant event. It fits the

context of the dialogue,

where Person B reassures

Person A about their

speech preparation.

82. (b) The correct order is b, a, d,

c.

 B introduces the idea that

life must be liveable.

 A explains the

requirement of constant

sustenance.

 D adds the need for

favourable circumstances.

 C concludes with how

these elements help life

grow and develop.

83. (a) Eerie (vthc vkSj Mjkouk)
means strange, causing

fear or discomfort.

Similarly, Mysterious

(jgL;e;) means difficult to

understand, creating

curiosity.

Soothing (l q•nk;d)
means calming.

Tense (rukoiw.kZ) means

anxiety-filled.

Comfortable (vkjkenk;d)
means providing ease

84. (c) “That” is appropriate

relative pronouns to refer

to things or objects in

restrictive relative clauses.

85. (a) No substitution required

Structure for comparison:

…”not” +  “more” +

(adjective) + [than] to

compare two things.

86. (a) The correct spelling is

“Abhorrent” (?k̀.kkLin), which

means something that is

deeply repulsive or detestable.

Abseil: Correct spelling,
means to descend a rock
or wall using a rope.

Accede: Correct spelling,

means to agree or give

consent.

Abscess: Correct spelling,

means a collection of pus

that forms as a result of

infection.
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87. (b) “Achilles’ Heel” (fdlh oLrq ;k
O;fDr dk detksj i{k) refers

to a person’s weakness or

vulnerable point.

88. (c) Passive Voice Structure:

Object + will be + past

participle + by + subject

A countrywide caste census

(object) will be conducted

(passive verb) by us

(subject) after we come to

power at the Centre.

Active Voice: Subject +

will + base verb + object

89. (d) The correct expression is

“by hand” (g kF k  l s )  to

indicate the method of

delivery.

90. (c) Sycophant (pkiywl) is

someone who acts

excessively obedient or

servile to gain favor, often

through flattery.

Gold-digger: (lksukj) refers

to someone who seeks

wealth through

relationships.

Gregarious: (lkekftd)
refers to someone who

enjoys company or is

sociable.

Manipulative: (daVªksy djus
okyk) refers to someone who

controls or influences

others in a cunning way.

91. (a) The correct order is CBAD.

 C introduces the Titanic as

the “Queen Alary” and the

pride of the White Star

Line.

 B explains how the Titanic

was admired and envied by

maritime nations.

 A describes her exceptional

qualities in speed, comfort,

beauty, and equipment.

 D concludes by stating that

everything about her was

attractive and fascinating.

92. (a) Revolving (?kweuk) means

moving around a central point

or object, like the planets

orbiting the sun. It refers to

the orbital movement

around another object.

Rotating (?k weuk) means

spinning around one’s own

axis.

For example, Earth rotates

on its axis, causing day and

night. It refers to the

spinning motion of an

object itself, not around

another object.

93. (b) Rancour (}s"k) means deep-

seated resentment or

bitterness. Its opposite is

Harmony (lkeatL;), which

means a state of peaceful

coexistence and agreement.

Animosity (oSeuL;) means

hostility or strong dislike.

Devotion (leiZ.k) means

loyalty or love.

Enmity ('k= k qrk) means

hostility or hatred.

94. (a) Active Voice:

Subject + will + base verb

+ object

Example: The publishers

(subject) will release (verb)

a new book on games

(object) next week.

Passive Voice:

Object + will be + past

participle + by + subject

Example: A new book on

games (object) will be

released (passive verb) by

the publishers (subject)

next week.

95. (d) sell its stake in its

subsidiary

A company is a singular

entity, so the possessive

pronoun referring to it

should be singular, i.e.,

“its”.

Similarly, the subsidiary of

a single company is also

singular, requiring the

possessive pronoun “its”.

96. (d)

97. (b)

98. (b)

99. (a)

100.(d)

ANSWER KEY

1. (d)

2. (c)

3. (a)

4. (c)

5. (c)

6. (d)

7. (a)

8. (a)

9. (b)

10. (d)

11. (b)

12. (b)

13. (a)

14. (d)

15. (a)

16. (d)

17. (d)

18. (b)

19. (a)

20. (d)

21. (c)

22. (b)

23. (b)

24. (d)

25. (a)

26. (c)

27. (a)

28. (b)

29. (c)

30. (a)

31. (c)

32. (a)

33. (d)

34. (c)

35. (a)

36. (a)

37. (c)

38. (a)

39. (d)

40. (d)

41. (d)

42. (c)

43. (c)

44. (b)

45. (c)

46. (b)

47. (d)

48. (d)

49. (a)

50. (a)

51. (b)

52. (a)

53. (b)

54. (b)

55. (c)

56. (a)

57. (b)

58. (c)

59. (d)

60. (d)

61. (a)

62. (d)

63. (a)

64. (d)

65. (a)

66. (c)

67. (c)

68. (b)

69. (a)

70. (b)

71. (d)

72. (a)

73. (c)

74. (c)

75. (d)

76. (c)

77. (b)

78. (a)

79. (b)

80. (b)

81. (b)

82. (b)

83. (a)

84. (c)

85. (a)

86. (a)

87. (b)

88. (c)

89. (d)

90. (c)

91. (a)

92. (a)

93. (b)

94. (a)

95. (d)

96. (d)

97. (b)

98. (b)

99. (a)

100.(d)


